®
@ , ~____ nmml e Ul E
ﬁ#:lrg}ﬁ. O OO N @O OO OO o000 o i o o O ﬁ.\l\‘g)l'%: FMET
LI O] g € R AN L b ET
B iy ] P - IS o
A i ' A < im Ml1is
A - W i i boED
O i L g e
. Wi i Tl b E
Dl - i d O Pl
o - Wy i = e[ e
o I i - g 1ME
el il it . Bll=
- i1 3
NI TR W - ::”-',E : e
AlBm < JHHEg i o oA I cd
| Wy ' i (O CoE {
i) Ty T ) s i |1HET
H I ! T i U ET
i it fih 2 s
Bl B I -, Bll=
FE
-% I fia ‘ }
[ ! C I | 1174 }
TTITT o
I VT [ ! =
20.846 |Gl o Y W tED
. A - W Wil E e
EH g | [RERRINLY | bl F
Ll (2 I I ! e
S I HH:I: ! :uuuu: | : 1 d
A T T TS Ll (19.092)
_ | | I - 7
! g I O ] Eolf|E
- I ! M Fole
T W Wl ~ i FNE
O W W O jimr EoE
S ] I IIFFF bl F
L ) W Wit ) e RIS
Ly~ Wi Wit = il .
i T W ~ g oA E
O I ! W Q) imd bl ET
L i | . s H | e
| 9
Cui B R L O R . O OO OO i o o o) @i bl E
OI@) - <o L R L ey R L AL AL RS g ) i e
a LiL] i uuy jmr |
Y A S # A b % Ao A= = e =24 ==t
! FeF T . . =0 A ; —— 394 TYP.

~—6.929 =

~.177

.303 W

@® O O000O0

A3EE RIS RAEE AR ERATE o)

o
=

0000 O0® |

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
_

10Ot
100t
10Qt
100t

@)O

@
O
O
O

SEEFIE

—_——— )
T

1l
-4

=
riHi

EE A FE = E

=

6X INSERT: M5X0.8

SECTION A-A

WQ-81-02
UL LISTED: UL508-4X

2 1
BOM Table
ITEM NO.|PART NUMBER Rev. Description Material | Color | QTY.

1 WQ-81S-02 - Hinged Nema Enclosure-Outdoor Use 1
1.1 WQ-81B-02 - BASE GFR10/PC| GRAY 1
1.2 WQ-81C-02 - COVER W/GASKET PC GRAY 1
1.3 WQ-80L-01 -.01 LATCH ASSEMBLY - 3
1.4 WQ-PIN-03 - HINGE PIN SST - 3
2 WQ-92 - WALL MTG. KIT 1
2.1 WQ-92F - WALL MTG. FLANGE SST - 6
2.2 SCREWS-026 - M5X0.8 x 10mm CROSS TRUSS HEAD SCREW 12

=1

SERVICE TEMP: -40°C to 95°C
FLAME RATING: 5VA
Outdoor Suitability: UL746C F1

6X INSERT: M5X0.8

24.646
@157 TYP.

@ 492 TYP.
7 ~\
; y
=i =
O , o}
® ® ®
|
5.591
l |
®
16.772
‘m Y, \ Y,
~ e ™
|
|
® ® ®
- 7
o ¥ o Ly 7
TOP VIEW WITH COVER HIDDEN
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #-°
TWO PLACE DECIMAL: #-
THREE PLACE DECIMAL: #-
PRINTED GRAPHICS: #-
PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART
- OR AS A WHOLE WITHOUT THE WRITTEN
REV.] DESCRIPTION [ZONE[ BY [APPRD|] DATE PERMISSION OF POLYCASE IS PROHIBITED.
REVISIONS CAD FILE: WQ-81
5 4 3

PART NO.
WQ-81
MATERIAL

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

FLAME RATING SIZE = Hinged Nema Enclosure, REV
5VA Outdoor Use, with Screw Kit
NAME | DATE C =
DRAWN  D.MF.  4/6/2021 1
CHECKED | C.CB. 4/20/2021 SCALEIT:S SHEET 1 OF 1
2 1




	Sheet1
	Drawing View1
	Section View A-A
	Section View B-B
	Drawing View6
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View13


